17/03/16
THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. One of the Fundamental Premises (FP) of service-dominant logic states that: “The enterprise cannot deliver value, but only offer value propositions.” Could you please explain this very premise? (2 Points)
This fundamental premise states that firms can offer its applied resources and create value collaboratively (i.e. interactively) following acceptance, but cannot create / deliver value alone. 

2. Come up with any 2 management challenges faced by service operation companies characterised by High Interaction with Customers / High Customization of the service delivered. (2 Points)
Management challenges faced by service operation companies characterized by high interaction with customers / high customization of the service delivered are as follows:

· Fighting cost increases

· Maintaining quality

· Reacting to consumer intervention in process

· Managing advancement of people delivering service

· Managing flat hierarchy with lose subordinate-superior relationships

· Gaining employee loyalty.

3. Briefly explain how “Switching Costs” enhance “Creation of Barriers to Entry” strategy? (2 Points)
When service operation companies establish customer relationships, this will create inconvenience for those very customers to switch to another provider. In turn, this will create a barrier for similar companies to enter into the market and gain the customers of other companies.
4. Come up with any challenge uniquely faced by service innovation? Briefly explain this very challenge. (2 Points)
Unique challenges faced by service innovation are as follows:

· Ability to protect intellectual and property technologies → the transparency of service systems makes imitation simpler, and patents are difficult to obtain.
· Incremental nature of innovation → since customers participate in service systems, innovation tends to be evolutionary rather than radical to allow for acceptance.

· Ability to build prototype or conduct tests in a controlled environment → services cannot be tested realistically in an isolated laboratory, so they run the risk of failure or poor performance upon launch.
5. Contrast “Ethical Customer” to “Convenience Customer”? (2 Points)
While ethical customers are the ones who feel a moral obligation to patronize socially responsible firms, convenience customers are the one who have no interest in shopping for the service itself. Rather, often they are willing to pay extra for personalized or hassle-free service.

6. What is “Walk-through Audit”? How is it different than a “Customer Satisfaction Survey”? (2 Points)

Walk-through audit is a process-oriented survey given to customers and managers to evaluate the perception of the customer service experience. The main difference between walk-through audit and customer satisfaction surveys is that the latter is marketing-oriented, seeking a measure of overall customer satisfaction while walk-through audit is operations or process oriented, with the objective of uncovering opportunities for improvements.
Good Luck
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